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QUESTION 1

A company is concerned with high space usage on ils storage devices, especially during certain periods of
time when the same or similar information is being sent or received.

Which solution will address this concern?

A. data compression

B. encryption

C. thin provisioning

D. deduplication

Correct Answer: A

QUESTION 2

Which technology uses lossless Ethernet?
A.FC

B. FcoE

C. FCIP

D.iFCP

Correct Answer: B

QUESTION 3

Which statement is correct regarding LUNs?

A. a representation of segmented storage space to be provided to their servers
B. a scenario where log file servers reach maximum disk capacity

C. a method for encapsulating Fibre Channel frames

D. a method for optimizing LAN traffic

Correct Answer: A

QUESTION 4

Which backup technique is the slowest in terms of backup time?
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A. differential backup
B. mirror backup

C. incremental backup
D. full backup

Correct Answer: B

QUESTION 5

A physical server is having a native or bare-metal hypervisor installed before being deployed. In this scenario, which
statement is correct?

A. The hypervisor runs as a program on a host operating system and supports only one instance of a virtual server

B. The hypervisor runs directly on the server hardware and supports the creation of multiple concurrent instances of
virtual servers

C. The hypervisor runs directly on the server hardware and supports the creation of only one instance of a virtual
server.

D. The hypervisor runs as a program on a host operating system and supports multiple concurrent instances of virtual
servers.

Correct Answer: B
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